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<E 6.2-1> FE1gk oA E 2 ZAF 23 (20084) (A=)

4 A & 5 TAI|E 1/427| 2/4&27| 3/4&27| 4/42 7| g7
29. 3 Al 2l 0.5mg/ ¢ O] 5t =4E =4E =dE =4dE =4E
30. 1.1-Cl2 220 €& 0.03mg/ ¢ 0| 5t =4E =4Z =4dE =4dZ =4dE
31. 12 L2223~ =k 0.003mg/ ¢ 0| 5t =4E =4E =4dE =4dE =4E
32, A 3 BE & 0.002mg/ ¢ 0| 5t =4 =4 =4Z =HdE =HE
33. 4 = 300mg/ ¢ O| 5t 102 95.9 123 86.9 101.95
34. oA Z2EAZEF A | 2 10mg/ ¢ O] 5t 0.3 0.82 0.69 =4 0.60
35. 4 M F& gt et Mt et Mgt
36. ot 0l Mgt et et Mgt Mgt
37. = 1mg/ ¢ O| 5t =4E =24E =dE =4E =4E
38. A I 5% 0|5t =4 =4Z =4dE =4dE =4dE
39. Al Al 0.5mg/ ¢ O 5t =4E =2HE =HE =4E =4E
40. e 5.8-8.5 7.5 7.2 7.4 7.3 7.35
41, ot = 1mg/ ¢ O| St 0.019 0.0066 0.0258 0.0035 0.01
42. = & ol = 250mg/ ¢ 0| 5t 22 14 27 11 18.50
43. T % o 7 = 500mg/ ¢ O] 5t 138 154 215 119 156.50
44, A 0.3mg/ ¢ O] 5} =4dZ =4Z =4dE =4dE =4Z
45. at 2t 0.3mg/ ¢ 0| 5} =4 =4 =4Z =HdZ =HdE
46. = = INTUO[ 5t 0.04 0.032 0.084 0.071 0.06
47. =y b ol = 200mg/ ¢ O 5t 8 4 10 3 6.25
48. of £ O =l 0.2mg/ ¢ O 5t =4 =4 =HE =HE =HE
49. 7 2 & F & 2 0.2mg/ ¢ O| 5} 0.2 0.3 0.22 0.34 0.27
50. ClEEHOIN EL EE 0.1mg/ ¢ O| 5} 0.00096 0.00096
51. CI2220tMELH EE 0.09mg/ ¢ 0| 5t 0.00063 0.00063
52. g 2 ot Ml B o Al E 0.1mg/ ¢ O| 5} 0.0007 0.0007
53. 222350l =8 0] E 0.03mg/ ¢ O] 5t 0.00085 0.00085
4. ER|ZEZZ0oMEHEE 0.004mg/ ¢ O] 5t 0.00129 0.00129

4 A Z2 o = 3t = 5t x| 5} = 5t
Ao A Al 2008.03.28 2008.06.04 2008.9.30 2008.12.19
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<I 6.2-2> ZL orSdsE 2 ZAA A3 (20084) (AF)

a4 A g = TAI|E 1/42 7| 2/42 7| 3/4=2 7| 4/42 7| o o
29. =i o 2l 0.5mg/ ¢ O| 5} =4 =4E =4E =HdE =4E
30. 1.1-ClZ22 20 & 0.03mg/ ¢ O| 5} =4E =4E =HdE =4E =H4E
31. 12-ClH2m-3- =2t 0.003mg/ ¢ O] 5t =4E =4E =4E =4 =4
32. P - S = 0.002mg/ ¢ 0| 5t =HdE =HdE =4E =4S =4S
33. z = 300mg/ ¢ O] 5t 130 99.1 134.9 89.2 113.30
34. npakZEAMZE A 2 10mg/ ¢ O 5} 0.7 0.72 2.3 =4d& 1.24
35. = M FF = g = g = ey = ey =
36. o 0| =2 At 3t et et
37. = 1mg/ ¢ O| St =4E =4E =4 =4 =4
38. AH = 5% 0|5} =4dE =4dE =4Z =H4E =4=
39. M| A 0.5mg/ ¢ O] 5} =4 =4 =4E =4E =4dE
40, = a O = = = 5.8-8.5 7.3 7.2 7.5 7.3 7.33
41, of A 1mg/ ¢ O| 5} 0.058 0.0073 0.0275 0.0064 0.02
42, A @ ol = 250mg/ ¢ O| st 57 15 27 11 27.50
43. T Y% T 5 = 500mg/ ¢ O| 5} 275 152 222 142 197.75
44, S 0.3mg/ ¢ O] 5} =4E =4E =4dE =4E =4
45, ok 2t 0.3mg/ ¢ O] 5} =HdE =HdE =4E =HE =HE
46. = = INTUO| 5} 0.08 0.033 0.09 0.05 0.06
47. 2t Gl 0| = 200mg/ ¢ O| 5t 19 3 10 3 8.75
48, ot £ o =] 0.2mg/ ¢ O| 5} =HdE =HdE =H4E =4S =4E
49. 7+ 2 & F H 2 0.2mg/ ¢ O 5} 0.2 0.21 0.24 0.3 0.24
50. ClHEERotNEHEZ 0.1mg/ ¢ O| 5} =4dE =4dE
51. CIZ22olMEHEZ 0.09mg/ ¢ O 5t 0.00051 0.00
52. gt 2 of M Bl ol Al E 0.1mg/ ¢ O| 5} 0.0006 0.00
53. 222350l =8 0] E 0.03mg/ ¢ 0| 5t =4E =4E
54, ED|ZEZ2Z20IMEL EZ 0.004mg/ ¢ O 5} 0.00095 0.00

4 A Z2 o = 3t = 5t x| 5} = 5t
o 2 Al 2008.03.28 2008.06.04 2008.9.5 2008.12.1
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<E 6.2-3> HE2d a2 AL 2 ZAF 2o (2008H) (AX)

4 A & 5 TAI|E 1/427| 2/4&27| 3/4&27| 4/42 7| g7
29. 3 Al 2l 0.5mg/ ¢ O] 5t =4E =4E =dE =4dE =4E
30. 1.1-Cl2 220 €& 0.03mg/ ¢ 0| 5t =4E =4Z =4dE =4dZ =4dE
31. 12 L2223~ =k 0.003mg/ ¢ 0| 5t =4E =4E =4dE =4dE =4E
32, A 3 BE & 0.002mg/ ¢ 0| 5t =4 =4 =4Z =HdE =HE
33. 4 = 300mg/ ¢ O| 5t 104 96.1 100.6 93.4 98.53
34. oA Z2EAZEF A | 2 10mg/ ¢ O] 5t =4E 0.75 0.69 =4 0.72
35. o Al ox = 5 = 3f = 5 = 5 = 5
36. ot 0l Mgt et et Mgt Mgt
37. = 1mg/ ¢ O| 5t =4E =24E =dE =4E =4E
38. A I 5% 0|5t =4 =4Z =4dE =4dE =4dE
39. Al Al 0.5mg/ ¢ O 5t =4E =2HE =HE =4E =4E
40. e 5.8-8.5 7.4 7.2 7.6 7.2 7.35
41, ot = 1mg/ ¢ O| St 0.015 0.0069 0.0488 0.0029 0.02
42. = & ol = 250mg/ ¢ O &t 22 15 20 11 17.00
43. T % o 7 = 500mg/ ¢ O| 5t 151 143 184 150 157.00
44, A 0.3mg/ ¢ O] 5} =4dZ =4Z =4dE =4dE =4Z
45. at 2t 0.3mg/ ¢ 0| 5} =4 =4 =4Z =HdZ =HdE
46. = = INTUO[ 5t 0.04 0.035 0.073 0.05 0.05
47. =y b ol = 200mg/ ¢ O 5t 9 3 16 3 7.75
48. of £ O =l 0.2mg/ ¢ O 5t =4 =4 =HE =HE =HE
49. 7 2 & F & 2 0.2mg/ ¢ O| 5} 0.2 0.24 0.2 0.32 0.24
50. ClEEHOIN EL EE 0.1mg/ ¢ O| 5} 0.00094 0.00
51. CI2220tMELH EE 0.09mg/ ¢ 0| 5t 0.00056 0.00
52. g 2 ot Ml B o Al E 0.1mg/ ¢ O| 5} 0.0006 0.00
53. Z223stol =g ol E 0.03mg/ ¢ 0| 5t =24E =4E
4. ER|ZEZZ0oMEHEE 0.004mg/ ¢ O] 5t 0.00108 0.00

4 A Z2 o = 3t = 5t x| 5} = 5t
Ao A Al 2008.03.28 2008.06.04 2008.9.30 2008.12.19
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29. 3 Al 2l 0.5mg/ ¢ O] 5t =4E =4E =dE =4dE =4E
30. 1.1-Cl2 220 €& 0.03mg/ ¢ 0| 5t =4E =4Z =4dE =4dZ =4dE
31. 12 L2223~ =k 0.003mg/ ¢ 0| 5t =4E =4E =4dE =4dE =4E
32, A 3 BE & 0.002mg/ ¢ 0| 5t =4 =4 =4Z =HdE =HE
33. 4 = 300mg/ ¢ O| 5t 234 95.5 102.2 85.6 129.33
34. oA Z2EAZEF A | 2 10mg/ ¢ O] 5t 1.6 0.66 =4 =4dE 1.13
35. 4 M F& gt et Mt et Mgt
36. ot 0l Mgt et et Mgt Mgt
37. = 1mg/ ¢ O| 5t =4E =24E =dE =4E =4E
38. A I 5% 0|5t =4 =4Z =4dE =4dE =4dE
39. Al Al 0.5mg/ ¢ O 5t =4E =2HE =HE =4E =4E
40. e 5.8-8.5 6.8 7.2 7.4 7.3 7.18
41, ot = 1mg/ ¢ O| St 0.038 0.0083 0.0142 0.0046 0.02
42. = & ol = 250mg/ ¢ 0| 5t 179 15 20 12 56.50
43. T % o 7 = 500mg/ ¢ O| 5t 473 144 177 117 227.75
44, A 0.3mg/ ¢ O] 5} =4dZ =4Z =4dE =4dE =4Z
45. at 2t 0.3mg/ ¢ 0| 5} =4 =4 =4Z =HdZ =HdE
46. = = INTUO[ 5t 0.03 0.34 0.072 0.08 0.13
47. =y b ol = 200mg/ ¢ O 5t 14 3 16 3 9.00
48. of £ O =l 0.2mg/ ¢ O 5t =4 =4 =HE =HE =HE
49. 7 2 & F & 2 0.2mg/ ¢ O| 5} 0.2 0.16 0.19 0.2 0.19
50. ClEEHOIN EL EE 0.1mg/ ¢ O| 5} 0.00094 0.00
51. CI2220tMELH EE 0.09mg/ ¢ 0| 5t 0.00054 0.00
52. g 2 ot Ml B o Al E 0.1mg/ ¢ O| 5} 0.0006 0.00
53. Z223stol =g ol E 0.03mg/ ¢ 0| 5t =24E =4E
4. ER|ZEZZ0oMEHEE 0.004mg/ ¢ O] 5t 0.00103 0.00

4 A Z2 o = 3t = 5t x| 5} = 5t
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